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wedding reception.

b. The waves buffet the rocks with great
force.

The underlined words respectively rhyme with :

(1) turret and say

(2) say and turret

(3) Both turret and say

(4) Neither turret nor say
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65. a. Ihaveno furtherconsultwith my father's firm.
b. I have no further consult to my father's firm.
¢. Thavenofurtherconcernwithmyfather'sfirm.
d. I have no further concern to my father's firm.
The grammatically correct sentences are
(1) Bothaandc (3) Onlya
(2) Bothbandd (4) Onlyc

66. a. The documents are in her possession.

b. Only repeatation will given you practice.

¢. His emoluments have been raised.

d. The war of succession continues.

The underlined words in the above sentences

are correctly spelt in :

(1) aandb (2) b,candd

(3) candd (4) All four

67. a. If you will work hard, you will certainly

succeed.

b. If you would have worked hard, you would
have succeeded.

c¢. Ifyousaw him you would recognize him.

d. Had you seen him, you would have
recognized him?

Which of the above sentences are grammatically

correct?

(1) Only a and b are correct

(2) Only ¢ and d are correct

(3) Only a, b and d are correct

(4) Only b and d are correct

68. Eek! There's a fly in the soup. Waiter ! screamed
Sarita. Put into indirect speech, the sentence
should be:

a. Sarita screamed that eek, there was a fly in the
soup. She added waiter.

b. Sarita screamed at the waiter that there was a
fly in the soup.

c. Sarita saw a fly in her soup and screamed for
the waiter.

d. Sarita saw a fly in the soup and screamed at
the waiter.

Which of the above sentences is grammatically

most acceptable?

(1) Onlya (2) Onlyb

(3) Onlyc (4) Onlyd

69. You have to catch the train. You must leave

immediately. Combine the two sentences to

make a compound sentence

(1) You must leave immediately in order to catch
the train.

(2) If you don't leave immediately, you won't
catch the train.

(3) Ifyou have to catch the train, you must leave
immediately.

(4) You have to catch the train, hence you must
leave immediately.

70.

Rajan will meet Umesh at the shop in the
evening to deliver the message.

Which 'wh' word should the question begin
with to get the underlined word as answer?

(1) Who (2) Whom

(3) Where (4) Why

71.

a. Suspend

b. Soluble

c. Silly

d. Dominant

The noun forms of the above words take '-ance’,
'-ity', '-ness, or -sion’' as suffix.
Choose the right option:

(1) a-sion, b-ness, c-ness, d-ance
(2) a-ance, b-ness, c-sion, d-ity
(3) a-ance, b-ity, c-ness, d-sion
(4) a-sion, b-ity, c-ness, d-ance

72.

The word 'well' may be used as :
(1) Noun and Adverb

(2) Only Noun

(3) Only Adverb

(4) Noun, Verb and Adverb

73.

The train should arrive any time now. The
underlined modal expresses :

(1) obligation (2) anticipation

(3) suggestion (4) instruction

74.

Identify the grammatically correct sentence/s :
a.  She leaves for London this evening.

b. He is having a headache.

c.  She has finished her work an hour ago.

d. It has been raining heavily since two hours.
Option Answer :
(1) Onlya

(3) Onlya,bandd

(2) Onlyb
(4) Onlyb, candd

75.

Which of the following sentences may indicate

a future event?

a. The movie starts in ten minutes.

b. The sample is being sent for detailed
examination.

¢.  You should finish the work before you leave.

d. I meet them at the hotel and we start off.

Option Answer :

(1) Onlyaandb
(3) Onlyaandc

(2) Onlycandd
4) Al
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76.

Measles ....... quite a lot of discomfort.

Fill in the blank with an acceptable form of the
verb given below :

(1) cause (2) causes

(3) are causing (4) have caused

77.

350 runs ....... quite a decent score.

Fill in the blank with an acceptable form of the
verb given below :
(1) is

(3) are being

(2) are
(4) was become

78.

Which part of the sentence below contains an
error ?
I think so that a bit of help from you will help him
(a) (b) (©)
get over his current crisis.
(d)
(1) a (2) b (3) c 4) d

79.

You told us they insisted where we could throw

the garbage. Use punctuation signs so as to get

a meaningful sentence.

(1) You told us, "They insisted where we could
throw the garbage."

(2) "You told us," they insisted, "where we could
throw the garbage?"

(3) "You told us," they insisted, "where we could
throw the garbage."

(4) You told us. They insisted, "where we could
throw the garbage ?"

80.

You are just too fast. I cannot stay along
with you. Choose the appropriate phrase to
substitute the underlined words:

(1) stay equal to (2) match along with
(3) keep up with (4) run along by

81.

When she heard about the accident she started
crying?

Replace the underlined word by the most
suitable phrase.

(1) broke up (2) broke out

(3) broke down (4) broke off

82.

He will have to raise the wind for his new
enterprise.

The underlined idiom may be substituted by :
(1) struggle (2) find workers

(3) find resources (4) travel

83.

84.

Give a single word for one who compiles
dictionary.

(1) Calligrapher
(3) Compiler
The father was very angry ....... his son.
Choose the correct option to fill in the blank.
(1) with (2) at

(3) against (4) from

(2) Editor
(4) Lexicographer

8s.

Select an appropriate suffix to make an
adjective of the following word. barber .......

(a) -ic  (b) -ism (¢) -ity (d) -ous
Answer Option :

(1) only (a) (2) only (b)

(3) (b) and (d) only (4) (a)and (d) only

86.

Identify the word which is similar in meaning
to the underlined word.

The new officer is a brash young man.

(1) showy (2) rude

(3) impudent

(4) All the above three are correct

87.

Fill in the blank with proper preposition given
below : Has your father arrived ....... home yet?
(1) to (2) at

(3) in (4) No article

88.

Identify the odd sentence from the following.
a. The butter is kept here.

b. The window was broken.

c. The bridge is being repaired.

d. Iremember my father taking me to the zoo.
Answer Option :

(1) aonly (2) aonlydonly

(3) band (4) conly

89.

Choose the correct option and fill in the blank :
Owingtoa....... there was famine in the country.
(1) draught (2) draft

(3) drought (4) None of the above

90.

Choose the correct option and change the
following into indirect speech.

He said, "I have read this novel."

(1) He said that he had read that novel.

(2) He said that he read this novel.

(3) He said that he has read this novel.

(4) He said that he had been reading this novel.

91.

Mark the sentence in which the word 'after’ is
used as an adverb.

(1) He takes after his father.

(2) After ages shall sing his glory.

(3) We went away after they had left.

(4) They arrived soon after.

92.

Mark out the incorrect sentence.
a. Barley, wheat and rice are cereals.
b. There are eggs and bacon for breakfast.

c. Two pounds of coffee cost seven and six pence.
d. The radio which you gave my children works
perfectly.
Answer Option :
(1) aandb only
(3) aandd only

(2) bandconly
(4) bonly
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93. Choose the correct option and fill in the blank :
They began their journey ....... sunset.
(1) at (2) on (3) in (4) upon
94. Choose the correct sentence from the following.
a. The Prime Minister lives in 10 Downing Street.
b. Sherlock Holmes lived in Baker Street.
c. His father works into a bank.
d. My married sister lives at Manchester.
Answer Option :

turned it into a very different thing. Science has enlarged
the mechanism of war, and it has distorted it.

96. On the basis of the passage, complete the
following sentence using the best of the options
given below :

The passage suggests that most people think
that for the existence of war .......

(1) nations are responsible

(2) scientists are responsible

(1) aonly (2) bonly (3) animals are responsible
(3) aandconly (4) donly (4) All of the above

95. Choose the correct verb from the options : 97. On the basis of the passage, choose the best
The dentist decided to ....... my decayed tooth. option to complete the sentence given below :
(1) exhale (2) extort According to the author, ...
(3) extract (4) exit (1) people do not take their private quarrels

(For Questions 96 to 100)

Read the following passage and answer questions 96
to 100 :

Everyone likes to blame his sense of defeat on
someone else; and for some time scientists have been a
favorite scapegoat. I want to look at their responsibility,
and for that matter at everybody's rather closely. They do
have a special responsibility; but it is a complicated one,
and not the whole responsibility. For example, science
obviously is not responsible for the readiness of people,
who do not take their private quarrels beyond the stage
of insult to carry their public quarrels to the point of
war. Many animals fight for their needs, and some for
their mere greed, to the point of death. Bucks fight for
females, and birds fight for their territories. The fighting
habits of man are odd because he displays them only in
groups. But they were not supplied by scientists. On the
contrary, science has helped to end several kinds of group
murder, such as witch hunting and the taboos of the early
nineteenth century against disinfecting hospitals.

Neither is science responsible for the existence of
groups which believe themselves to be in competition;
for the existence, above all, of nations. And the threat
of war today is always a national threat. Some bone of
contention and competition is identified with a national

beyond insult

(2) people convert their private quarrels into
public quarrels

(3) people take their private quarrels to the point
of war

(4) people fight to the point of death

98. Which of the following statements is NOT
mentioned as a reason for animals fighting with
each other ?

(1) for their survival needs
(2) only when in groups
(3) for territories

(4) for mating partners

99. On the basis of the passage, complete the
following statement using the best option given
below;

According to the passage, science has helped ...

a. in the creation of groups

b. in the prevention of group murder

c. in ending the custom of witch hunting

d. in ending the taboo against disinfecting
hospitals

Option Answer :

(1) Only a

(3) Onlyb, candd

(2) Onlya,bandc
(4) All four

good, and in the end nations are willing to organize and 109, On the basis of the passage, complete the
to invite the death of citizens on both sides in order to statement with the best of the options given
reach these collective aims. Science did not create the below :
nations - on the contrary, it has helped to soften those The purpose of the passage is ...
strong national idiosyncrasies which it seems necessary (1) to blame scientists for the existence of war
to exploit if war is to be made with enthusiasm. (2) to defend science from the blame of inventing

The sense of doom in us today is not a fear of science; war
itis a fear of war. And the causes of war were not created (3) to show that war is a natural phenomenon
by science. No, science has not invented war; but it has (4) to highlight the benefits of science

® SORE®
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